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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, which policy will export routes to IBGP peers? 

A. static-3 

B. static-4 

C. static-1 
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D. static-2 

Correct Answer: B 

 

QUESTION 2

Which three mechanisms are associated with the bridging process? (Choose three.) 

A. blocking 

B. flooding 

C. aging 

D. filtering 

E. listening 

Correct Answer: BCD 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, what is the problem? 

A. The LAG member interfaces are configured across different line cards 

B. LAG requires more than two member links 

C. LACP is required for LAG to work 

D. Aggregated interfaces must be defined under the chassis stanza 

Correct Answer: D 
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QUESTION 4

How many bytes of overhead forms an IP-IP tunnel add to a packet? 

A. 20 bytes 

B. 24 bytes 

C. 28 bytes 

D. 14 bytes 

Correct Answer: A 

 

QUESTION 5

Which two OSPF header fields must match to form an adjacency over a broadcast connection? (Choose two.) 

A. router priority 

B. options 

C. hello interval 

D. neighbor 

Correct Answer: BC 
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